
 

 

Hard Chemistry Questions and Answers for SSC, Bank Exams, Tnpsc, Railways  

Question: 1 

What is the main component of Gober gas? 

(A) Methane 

(B) Hydrogen 

(C) Chlorine 

(D) Ethylene 

Ans: A 

Methane 

Question: 2 

Galvanised Iron sheets have a coating of 

(A) Calamine 

(B) Cinnabar 

(C) Corundum 

(D) Cerrusite 

Ans: D 

Cerrusite 

Question: 3 

Which one of the following is used in welding industry? 

(A) Acetylene 

(B) Ethane 

(C) Methane 

(D) Benzene 



 

 

Ans: A 

Acetylene 

Question: 4 

The science which deals with the chemistry of life processes is known as 

(A) Tnictorial chemistry 

(B) Electrochemistry 

(C) Biochemistry 

(D) Physical chemistry 

Ans: C 

Biochemistry 

Question: 5 

Which one of the following is the basis of modern periodic table? 

(A) Atomic size 

(B) Atomic number 

(C) Atomic mass 

(D) Atomic volume 

Ans: B 

Atomic number 

 

 

 


